the centering point for knee joint AP projection is at 
a- One cm above apex patella
b- One cm below apex of patella 
c- medial femoral condyle
d- lateral femoral condyle

the best projection to demonstrate the longitudinal arch of the foot is 
a- ateral with weight- bearing 
b- latreral without weight-bearing 
c- AP WITHE WEIGT - BEARING
d- p witout weigt –bearing

in frog position the angle between the two femur is
a- 30 degrees
b- 40 degrees 
c- 50 degrees
d- 60 degrees
in PA projection of the chest all of the following are correct except
a- the upper border of the cassette should be 2 in above the shoulder
b- the patient rotates his shoulders forwar to place the clavicles below apices
c- the focal film distance FFD should be 40 in
d- the centering point is at T6

in PA projection of the calcaneus the angulation of centrl ray is :
a- 30 degrees cephalic
b- 30 degrees cadul 
c- 40 degrees cephalic
d- 40 degrees caudal

The construction of film include:
a-base
b-emulsion
c-adhesive
d-all of the above

all of this we use bucky Except 
a- pelvis
b-skull
c- lumper
d- elbow

exposwre factor for lat skull is 
a- 80 k - 25 ms
b- 60kv - 25 ms
d- 80kv - 50 ms

the numper of tarsel bones in ankle joints is 
a- 6 bones
b- 7 bones 
c- 8 bones
d- 9 bones

mid sagittal plane (M.S.P
a- divides the body into upper and lower halves
b- divides the body into right and left halves
c-divides the body into anterior and psterior halvs 
d- All are false

the best projection to demonstrete scaphoid is 
a- Wrist AP obliqe 
b- Wrist PA withe ula flexion 
c- Wrist lateral
d-All are true

the centring point for for ankle joint AP projection at:
a- medial malleolus
b- latera malleolus 
c- midway between malleoli
d- ALL are false

12 - the basic projecton of sternum bone are
a- AP AND PA
b- latrel 
c- oblique 
d- b and c are correct

in direct PA projections of the skull all are true exceot:
a- Orbito- meatel is perpendiculer to the film
b-petrous pyramid filss the orbit
c- M.S.P is paralle to the film
d- coronal plane is paalle to the film

all the fllowing statements the respirory system are wrong except :
A- RT lung has 2 lobe
b- lt lung has 3 lobes
c- pleure covers both lungs
d- pulmonary veins carry non oxygented blood to the heart

In the wave theory x-ray characteristics are:
a-Period
b-Frequency
c-wavelength
d-speed,Frequency,wavelength and period
e-all are true

SI-units of TMAC ,, total mass attenuation coefficient is:
a-gray
b-Second
c-rad
d-m2kg-1
e-all are true

The contrast media used in IVU is:
a-Barium
b-urografin
c-Biloptin
d-moodily
e-all are true

The anode stem is made of
a-Molybdenum
b-lead 
c-copper
d-all are true
e-none of the above

2) The thoracic mediastinum can be divided into what structures?
a) Lungs and heart
b) Left and right lungs
c) Heart and great vessels
d) Digestive and urinary/reproductive

3) Olecranal refers to the:
a) Back bone
b) Heel
c) Elbow
d) Back of knee
e) Calf of leg

c


4) All of the following are functions of the skeletal system EXCEPT:
a) Hematopoiesisb) Allow movement
c) Storage of 90% of potassium
d) Support soft tissue
e) Protect organs

a

5) What type of bone is described as two parallel compact bone segments
“sandwiching”
a spongy bone segment?
a) Sesamoid (patella)
b) Irregular (vertebrae)
c) Long (humerus)
d) Short (wrist)
e) Flat (sternum)

b


12. Which of the following names best applies to the smallest particle of the
element tungsten that has all of the properties of tungsten?
a. Atom.
b. Molecule.
c. Compound.
d. Nucleus.


a

13. The function of the generator is to:
a. Change AC voltage to DC voltage.
b. Produce a strong magnetic field.
c. Remove ions from electrons.
d. Convert mechanical energy to electrical energy.


b
14. Which of the following choices correctly lists the charged particles of an
atom?
a. Protons, neutrons, and electrons.
b. Protons and electrons.
c. Neutrons and electrons.
d. Protons and neutrons.
a



15. Isotopes are atoms that:
a. Have varying numbers of both neutrons and protons.
b. Have the same number of protons, but varying numbers of neutrons.c. Have the same number of neutrons, but various numbers of protons
d. Have the same number of both protons and neutrons.
b
